The Drive Indices
In a combination drive reservoir where all the driving mechanisms are simultaneously present, it is of practical interest to determine the relative magnitude of each of the driving mechanisms and its contribution to the production.
The following MBE 

When all drive mechanisms are contributing to the production of oil and gas from the reservoir, the compressibility term in equation is negligible and can be ignored. Moving the water production term to the left-hand side of the equation, the following is obtained:
]
Dividing through by the term on the right-hand side of the equation produces
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When the effect of compressibility term of water and rocks is consideration then equation as following:
]
Equation can be rearranging to gives:
+


[bookmark: _GoBack]As follows to obtain three and/or four fractions, whose sum is one, which he called the depletion drive index (DDI), the segregation (gas cap) drive index (SDI), water-drive index (WDI) and the expansion drive index (EDI) :
DDI+SDI+WDI+EDI=1
When assuming the term -
+

Where:
DDI = depletion-drive index
SDI = segregation (gas-cap)-drive index
WDI = water-drive index
EDI = expansion (rock and liquid)-drive index
Swi = initial water saturation 
Rp = cumulative produced gas-oil ratio, scf/STB 
Δp = change in the volumetric average reservoir pressure, psi
ممكن ان تعطي في الامتحان
Prove that
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